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GCSE (1-09)

Bounds

Instructions

* Use black ink or ball-point pen.

« Answer all questions.

» Answer the questions in the spaces provided

— there may be more space than you need.

» Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

» Read each question carefully before you start to answer it.

 Keep an eye on the time.
* Try to answer every question.
» Check your answers if you have time at the end
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A rectangle has a length of 21cm, to the nearest cm, and a width of 5.3cm, to the nearest mm.

(a) Work out the upper bound for the perimeter of the rectangle.

+ : y
) T &l T a2 5.0 =3 i o

aCal.5) + 2(535)

(b) Work out the lower bound for the area of the rectangle.

90.5 X 5.5

A circle has a radius of 5cm, to the nearest cm.

(a) Work out the lower bound for the circumference of the circle.

Give your answer in terms of m.

HHTSSESQ lﬂ(LﬁS)

(b) Work out the upper bound for the area of the circle.

Give your answer in terms of 7.

7 (5.5)

___(Total for question 2 is 4 marks)
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A rectangular field has a length of 105 metres, to the nearest 5 metres, and a width of 53 metres, to the
nearest metre.
(a) Work out the lower bound for the perimeter of the field.
‘oo \ 165 T e s } 53/[‘ 5y
\ 025 V&1 .5 5 .o 53.5
2102 =) + 2(52.9)
( 3 releed 210, m
(b) Work out the upper bound for the area of the field. )
18575 & 5%
..... 675\261}3‘
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. o B (Total for question 3 is 4 marks)
A circle has a radius of 5.36cm, correct to 2 decimal places.

(a) Work out the lower bound for the circumference of the circle.

Give your answer to 2 decimal places.

ko t f
5.55T 5.26 /‘ .27

5.355 5.265 LT (%3653

............................................

(b) Work out the upper bound for the area of the circle.
Give your answer to 3 significant figures.

7(’(5.365)2

(Total for questiml‘{ is 4 marks)




s = 4.15 correct to 2 decimal places
t = 2.516 correct to 3 decimal places i i =
wpper v =
Work out the upper bound for v. Laig-Br *
Give your answer to 3 decimal places.
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(Total for question 5 is 3 marks) |
V=IR

I = 5.92 correct to 2 decimal places

R = 12.356 correct to 3 decimal places upp-ec V = upper T « wupper R

Work out the upper bound for V.
Give your answer to 3 decimal places.
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L gan x J2.35569

(Total for question 6 is 3 marks)
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a
b
a = 5.3 cm correct to the nearest mm " 2 _ c *
b = 8.2 cm correct to the nearest mm a —F lo -
Calculate the lower bound for c.
You must show all your working.
Give your answer to 3 significant figures.
i o)
g i { =
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sa | =2 54 %-\T B

(Total for question 7 is 4 marks)
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a = 4.1 cm correct to the nearest mm 5 T _ £ — (R
¢ = 10 cm correct to the nearest cm

(6004@’ b)z = (éawf/ Cl)L — (""Vf‘“/ a)

Calculate the lower bound for b.
You must show all your working.

Give your answer to 1 decimal place. <
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P E = 812 correct to 3 significant figures
t T = 9.2 correct to 1 decimal place

By considering bounds, work out the value of P to a suitable degree of accuracy.
Give a reason for your answer.
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b D
e (Total for question 9 is S marks)
10 f= E g = 12.7 correct to 3 significant figures
h h =

9.294 correct to 3 decimal places

By considering bounds, work out the value of f to a suitable degree of accuracy.
Give a reason for your answer.
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Both rowndt to 0.8 (2dp ) 25))

S . (Totalfor question 10 is S marks)



F= 25.14 N correct to 2 decimal places

A = 4.29 m’ correct to 3 significant figures F
Bi= =
A
By considering bounds, work out the value of p to a suitable degree of P = pressurc
accuracy. F = force
Give a reason for your answer. [im:
= A = area
A
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Botin round +o 5.9 (254 /147)

. (Total for question 11 is 3 marks)
12

F= 20.81 N correct to 2 decimal places

P = 5.12 Nm” correct to 3 significant figures F
P==—
A
By considering bounds, work out the value of A to a suitable degree of p = pressurc
accuracy. o F = force
Give a reason for your answer. - i
/} S e A = area
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___(Total for question 12 is 3 marks)
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i V=1’ +2as

35.2 correct to 1 decimal place
9.8 correct to 1 decimal place
60.35 correct to 2 decimal places

T

v
a
s
Work out the upper bound for u.

Give your answer to 3 significant figures.
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_____(Total for question 13 is 5 marks)



